Rl N KERAERG

(1)ZEEHETE H (k) SRR
?fj RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 21 3H e 54159 3| [EIEx0
1| e 100{ /mlEL F 220 230 99 330 1500 95 470 91 150 85 73 110 1,500 73 288 12
2 | KIGE Az [ZiES s [ZiES (s s [ZiES [ [ZiEs (s A [ZiES [ZiEa 12
3 IRV LR OZEDILEW <0.003 < 0.0003 < 0.0003 1
4 |KEBEROZDILEW) <0.0005 < 0.00005 < 0.00005 1
5 |[EL U R OFEDILE Y <0.01 < 0.001 < 0.001 1
6 [$h L O DL S <0.01 < 0.001 < 0.001 1
7 [EROZOILED <0.01 < 0.001 < 0.001 1
8 |~ iz sbaw) <0.05 < 0.002 < 0.002 1
9 |HmRIEER <0.04 0.053 0.007 0.053 0.007 0.030 2
10 [>T AL AA L K QAL T <0.01 < 0.001 < 0.001 1
11 |AERAHE 2 3R K OV R e = 37 <10 1.36 0.34 1.24 0.94 1.36 0.34 0.97 4
12 |7 v FE R OZEDOLEY) <0.8 0.09 0.09 1
13 |V R R OZEDILE Y <1 < 0.1 < 0.1 1
14 | UGV IR 5 <0.002 < 0.0002 < 0.0002 1
151,42 F4F% 9 <0.05 < 0.005 < 0.005 1
16 [V AR O A-1,20 7T L <0.04 < 0.001 < 0.001 1
17|V 7aoxrz <0.02 < 0.001 < 0.001 1
187 rranFL <0.01 < 0.001 < 0.001 1
19N rerTFL <0.01 < 0.001 < 0.001 1
20 | _oB <0.01 < 0.001 < 0.001 1
P EESA <0.6

29 |7 ekl <0.02

23 |7aukL 4 <0.06

24 |7 aafElg <0.03

PEl A A =P Y4 <0.1

26 | RFEWE <0.01

27 [~ A% <0.1

28 |N) /oo FeEs <0.03

) PR A=Y D2 <0.03

30 |7 eEHILL <0.09

31 |[Fsv a7 v TR <0.08

32 |HEh B O DAL AW <1 0.003 0.003 1
33| 7 NI=0U LK OEDILEY) <0.2 0.49 0.49 1
34 |8k O DL &Y <0.3 0.51 0.51 1
35 |8 2D EW) <1 < 0.01 < 0.01 1
36 | N LK OZEO(LEY) <200 18.5 18.5 1
37 |~ B R OZEDOILE D <0.05 0.245 0.564 0.161 0.267 0.564 0.161 0.309 4
38 |Hty 1A <200 21.1 20.3 20.0 14.0 15.2 15.2 14.8 14.7 15.5 17.0 20.4 21.5 21.5 14.0 17.5 12
39 | b XD N () <300 136 109 134 176 176 109 139 4
40 |78 <500 280 258 289 344 344 258 293 4
41 |BaA A FoniE PR <0.2 < 0.02 < 0.02 1
42 |V A A <0.00001 0.000001 0.000002 | < 0.000001 0.000001 0.000002 § < 0.000001 0.000001 4
43 fo?/v4y;ﬁw*7r~/v <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
44 | FEA A FLivEPER <0.02 < 0.002 < 0.002 1
45 |7 =/ — V38 <0.005 < 0.0005 < 0.0005 1
46 | HEED(TOC) <3 4.3 4.1 4.4 6.4 6.1 5.7 5.4 4.8 4.7 4.5 4.6 4.5 6.4 4.1 5.0 12
47 |pHAE 5.8~8.6 7.3 7.5 7.4 7.3 7.4 7.3 7.4 7.8 7.8 7.9 7.9 8.0 8.0 7.3 7.6 12
48 |BE BTl

49 | R & wawcien| BEmL] BEmL|teovg|rteova|taova|taoe s BEgmL| e v s LR e R Bl | EEEL] LR.oe s 12
50 | S5HEELLT 14.8 15.8 20.0 32.1 28.8 23.3 18.5 17.8 15.4 15.9 10.6 10.3 32.1 10.3 18.6 12
51 | 2BLLT 1.7 1.9 4.3 8.0 6.2 2.2 1.1 2.9 3.1 1.4 3.2 5.2 8.0 1.1 3.4 12
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?i.:? RAEHEE B 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 21 3H e 54159 3| [EIEx0
1 |7 TEVROEDIAEY <0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 2
2 |vF7  ROZEDLEY <0.002 0.0006 0.0015 0.0015 0.0006 0.0011 2
3 |=v VB OEDILEY) <0.02 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 2
5 |1,207an>z <0.004

8 |hMr=r <0.4

9 7&/vﬁﬁyi%/vmﬂey/v <0.08 < 0.008 < 0.008 < 0.008 F<  0.008 < 0.008 2
10 |G <0.6

12 | @ik <0.6

13|V 7ear7wh=R L <0.01

14 [fakra7—v <0.02

15 |3 <1

16 PR <1

17V Ine D =20 N (BE) % | 10~100

18|~ L R OO E W% <0.01

19 |a0ERfE R <20 14 4 14 4 9 2
20 |1,1,1N)7aaxs <0.3

21 | AF-t-T7F L —7 1 <0.02

22 | G (KMnO4TH 2 &) <3

23 | &8 (TON) 3LLT] < 1 3 < 1 < 1 3 1 1 4
24 | I IRE WK 30~200

25 |¥E % LELLT

26 | pHAE % 7.582

27 |1 B (FU 72U T HR) —1~0

28 | 1EJE M A% 2,0000/mt F[ 12,000 18,000 4,200 2,000 18,000 2,000 9,050 4
29 1,17 FL <0.1

30 | 7V I=0 LK ONEDILE YK <0.1

31 |PFOS & U'PFOA <0.00005 0.000009 0.000009 1
(3FDfhdIE A

{g A& E 44 5H 6 A 7H 8A 9H 104 114 124 1A 2A 3H 54 A% S [EIEx
1 | =W bl sE 2ok & (BOD) R ZHEL

2 ﬂﬁj@H/Jﬁ/z—ﬁgxkﬁi(COD) 3mg/0LL T 13.0 13.0 10.0 8.1 13.0 8.1 11.0 4
3 [l T 7 4 3]< 1 7 < 1 4 4
4 |25 FRIIEL 0.91 0.87 1.30 1.70 1.70 0.87 1.20 4
5 |4 KR ﬂlIL 0.025 0.032 0.016 0.016 0.032 0.016 0.022 4
6 VA TR 7.500 < 0.5 | < 0.5 | < 0.5 4.0 4.0 I < 0.5 1.0 4
7 R PE S R ZHEL [ [ A [ 4
8 |77 HERESE | T AIEL 0.11 0.13 0.17 0.13 0.24 0.33 0.10 0.17 0.11 0.15 < 0.05 0.06 0.33 0.05 0.15 12
9 |Z7VF AR 4 BRI AR ARG 2
wlrrror BRI HEL A AR 2
11 [/kiE 12.9 15.2 18.0 20.7 23.4 25.6 20.5 14.4 9.3 6.8 7.8 8.8 25.6 6.8 15.3 12
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TS b KBERRAREE

(1)ZEEHETE H (k) SRR
jf RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 21 3H e 54159 3| [EIEx0
1| e 100{ /mlEL F 85 110 41 1100 600 230 110 270 84 100 35 74 1,100 35 237 12
2 | KIGE Az AR s [ZiES (s s [ZiES [ [ZiEs (s A [ZiES [ZiEa 12
3 IRV LR OZEDILEW <0.003 < 0.0003 < 0.0003 1
4 |KEBEROZDILEW) <0.0005 < 0.00005 < 0.00005 1
5 |[EL U R OFEDILE Y <0.01 < 0.001 < 0.001 1
6 [$h L O DL S <0.01 < 0.001 < 0.001 1
7 [EROZOILED <0.01 < 0.001 < 0.001 1
8 |~ iz sbaw) <0.05 < 0.002 < 0.002 1
9 |HmRIEER <0.04 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 2
10 [>T AL AA L K QAL T <0.01 < 0.001 < 0.001 1
11 |AERAHE 2 3R K OV R e = 37 <10 0.73 < 0.05 < 0.05 0.49 0.73 < 0.05 0.31 4
12 |7 v FE R OZEDOLEY) <0.8 < 0.08 < 0.08 1
13 |V R R OZEDILE Y <1 < 0.1 < 0.1 1
14 | UGV IR 5 <0.002 < 0.0002 < 0.0002 1
151,42 F4F% 9 <0.05 < 0.005 < 0.005 1
16 [V AR O A-1,20 7T L <0.04 < 0.001 < 0.001 1
17|V 7aoxrz <0.02 < 0.001 < 0.001 1
187 rranFL <0.01 < 0.001 < 0.001 1
19N rerTFL <0.01 < 0.001 < 0.001 1
20 | _oB <0.01 < 0.001 < 0.001 1
P EESA <0.6

29 |7 ekl <0.02

23 |7aukL 4 <0.06

24 |7 aafElg <0.03

PEl A A =P Y4 <0.1

26 | RFEWE <0.01

27 [~ A% <0.1

28 |N) /oo FeEs <0.03

) PR A=Y D2 <0.03

30 |7 eEHILL <0.09

31 |[Fsv a7 v TR <0.08

32 |HEh B O DAL AW <1 0.005 0.005 1
33| 7 NI=0U LK OEDILEY) <0.2 1.13 1.13 1
34 |8k O DL &Y <0.3 2.52 2.52 1
35 |8 2D EW) <1 < 0.01 < 0.01 1
36 | N LK OZEO(LEY) <200 11.5 11.5 1
37 |~ B R OZEDOILE D <0.05 0.065 1.060 0.782 0.058 1.060 0.058 0.491 4
38 |Hty 1A <200 22.9 22.6 22.9 23.0 23.1 23.4 23.3 20.5 20.4 21.1 20.8 21.1 23.4 20.4 22.1 12
39 | b XD N () <300 75 78 78 65 78 65 74 4
40 |78 <500 164 199 186 150 199 150 175 4
41 |BaA A FoniE PR <0.2 < 0.02 < 0.02 1
42 |V A A <0.00001 0.000005 0.000005 0.000005 0.000005 0.000005 0.000005 0.000005 4
43 Z*f?lb/fY?ﬁ/V*ﬂ‘#/l/ <0.00001 0.000002 0.000003 0.000002 0.000003 0.000003 0.000002 0.000003 4
44 | FEA A FLivEPER <0.02 < 0.002 < 0.002 1
45 |7 =/ — V38 <0.005 < 0.0005 < 0.0005 1
46 | HEED(TOC) <3 3.9 3.9 4.0 5.2 5.2 5.2 5.5 5.8 5.8 5.2 5.5 5.5 5.8 3.9 5.1 12
47 |pHAE 5.8~8.6 7.0 7.3 7.3 7.3 .3 7.2 7.1 7.5 7.4 7.4 7.7 7.8 7.8 7.0 7.4 12
48 |BE BTl

49 | == o |fstdcan] RyEL|+R v R| R R|FR IR R v R LR v R| R B[R ERR| B | BYEL[+R-ICR 12
50 | S5HEELLT 11.9 9.1 9.8 64.6 62.1 45.8 40.2 26.7 22.8 22.1 19.6 18.0 64.6 9.1 29.4 12
51 | 2BLLT 3.2 1.2 1.5 22.5 10.7 5.1 4.1 1.2 1.5 3.6 1.5 2.9 22.5 1.2 4.9 12
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(27K A8 B A AR E T H

?i.:? RAEHEE B 4 5H 6H 7H 8H 9H 10H 114 12H 1A 21 3H e 54159 3| [EIEx0
1 |7 TEVROEDIAEY <0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 2
2 |vF7  ROZEDLEY <0.002 < 0.0002 < 0.0002 < 0.0002 [ < 0.0002 [ < 0.0002 2
3 |=v VB OEDILEY) <0.02 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 2
5 |1,207an>z <0.004

8 |hMr=r <0.4

9 7&/vﬁﬁyi%/vmﬂey/v <0.08 < 0.008 < 0.008 < 0.0080 J < 0.0080 J < 0.0080 2
10 |G <0.6

12 | @ik <0.6

13|V 7ear7wh=R L <0.01

14 [fakra7—v <0.02

15 |3 <1

16 PR <1

17V Ine D =20 N (BE) % | 10~100

18|~ L R OO E W% <0.01

19 |a0ERfE R <20 11 4 11 4 8 2
20 |1,1,1N)7aaxs <0.3

21 | AF-t-T7F L —7 1 <0.02

22 | G (KMnO4TH 2 &) <3

23 | &8 (TON) 3T 3 3 3 < 1 3]« 1 2 4
24 | I IRE WK 30~200

25 |¥E % LELLT

26 | pHAE % 7.582

27 |1 B (FU 72U T HR) —1~0

28 | 1EJE M A% 2,000{/mlEA T 1,800 6,400 880 3,800 6,400 880 3,220 4
29 1,17 FL <0.1

30 | 7V I=0 LK ONEDILE YK <0.1

31 |PFOS & U'PFOA <0.00005 0.000020 0.000020 1
(3FDfhdIE A

{g A& E 44 5H 6 A 7H 8A 9H 104 114 124 1A 2A 3H 54 A% S [EIEx
1 | =W bl sE 2ok & (BOD) R ZHEL

2 ﬂﬁj@H/Jﬁ/z—ﬁgxkﬁi(COD) 3mg/0LL T 10.0 12.0 12.0 8.8 12.0 8.8 10.7 4
3 [l T 16 10 4 3 16 3 8 4
4 |25 FRIIEL 0.66 0.75 0.89 1.10 1.10 0.66 0.85 4
5 |4 KRz ﬂEL 0.037 0.032 0.025 0.034 0.037 0.025 0.032 4
6 VA TR 7.500 1.0 [ < 0.5 | < 0.5 | < 0.5 1.0 < 0.5 ] < 0.5 4
7 B sE R e R ZHEL [ [ A AR H 4
8 |77 HERESE FRZMELI < 0.05 0.05 0.18 0.30 0.40 0.56 0.83 < 0.05]< 0.05]< 0.05[< 0.05]< 0.05 0.83 < 0.05 0.19 12
9 |Z7VF AR 4 BRI AR ARG 2
wlrrror BRI HEL A AR 2
11 [/kiE 12.7 14.0 16.0 19.3 19.7 20.8 18.6 16.3 13.8 12.9 7.5 7.9 20.8 7.5 15.0 12
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eIl AKE AR

(1)ZEEHETE H (k) SRR
jf RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 21 3H 53] 54159 3| [EIEx0
1| e 100{ /mlEL F 4 25 68 8 9 5 3 3 1 0 0 3 68 0 11 12
2 | KIGE A F AR N [ZiES P A fg AR A AR AR A AHg A 12
3 IRV LR OZEDILEW <0.003 < 0.0003 < 0.0003 1
4 |KEBEROZDILEW) <0.0005 < 0.00005 < 0.00005 1
5 |[EL U R OFEDILE Y <0.01 < 0.001 < 0.001 1
6 [$h L O DL S <0.01 < 0.001 < 0.001 1
7 [EROZOILED <0.01 0.002 0.002 1
8 |~ iz sbaw) <0.05 < 0.002 < 0.002 1
9 |HmRIEER <0.04 < 0.004 < 0.004 1
10 [>T AL AA L K QAL T <0.01 < 0.001 < 0.001 1
11 |AERAHE 2 3R K OV R e = 37 <10 0.70 0.69 0.69 0.71 0.71 0.69 0.70 4
12 |7 v FE R OZEDOLEY) <0.8 0.10 0.10 1
13 |V R R OZEDILE Y <1 < 0.1 < 0.1 1
14 | UGV IR 5 <0.002 < 0.0002 < 0.0002 1
151,42 F4F% 9 <0.05 < 0.005 < 0.005 1
16 [V AR O A-1,20 7T L <0.04 < 0.001 < 0.001 1
17|V 7aoxrz <0.02 < 0.001 < 0.001 1
187 rranFL <0.01 < 0.001 < 0.001 1
19N rerTFL <0.01 < 0.001 < 0.001 1
20 | _oB <0.01 < 0.001 < 0.001 1
P EESA <0.6

29 |7 ekl <0.02

23 |7aukL 4 <0.06

24 |7 aafElg <0.03

PEl A A =P Y4 <0.1

26 | RFEWE <0.01

27 [~ A% <0.1

28 |N) /oo FeEs <0.03

) PR A=Y D2 <0.03

30 |7 eEHILL <0.09

31 |[Fsv a7 v TR <0.08

32 |HEh B O DAL AW <1 < 0.001 < 0.001 1
33| 7 NI=0U LK OEDILEY) <0.2 < 0.01 < 0.01 1
34 |8k O DL &Y <0.3 < 0.03 < 0.03 1
35 |8 2D EW) <1 < 0.01 < 0.01 1
36 | N LK OZEO(LEY) <200 24.0 24.0 1
37 |~ B R OZEDOILE D <0.05 0.010 0.012 0.010 0.009 0.012 0.009 0.010 4
38 |Hty 1A <200 19.9 19.3 20.1 19.7 19.9 20.0 19.9 19.9 19.9 20.0 19.9 20.1 20.1 19.3 19.9 12
39 | b XD N () <300 88 88 88 88 38 88 38 4
40 |78 <500 209 236 222 210 236 209 219 4
41 |BaA A FoniE PR <0.2 < 0.02 < 0.02 1
42 |V A A <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
43 Z*f?lb/fY?ﬁ/V*ﬂ‘*/l/ <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
44 | FEA A FLivEPER <0.02 < 0.002 < 0.002 1
45 |7 =/ — V38 <0.005 < 0.0005 < 0.0005 1
46 | HEED(TOC) <3 0.4 0.5 0.6 0.5 0.4 0.5 0.5 5 0.4 0.4 0.4 0.7 0.7 0.4 0.5 12
47 |pHAE 5.8~8.6 8.1 8.1 8.1 8.0 8.1 8.0 8.1 1 8.1 8.1 8.1 8.1 8.1 8.0 8.1 12
48 |BE BTl

49 | & Eosew| BEEmUl RymEU] O RemUl REmU|] ReEL] REemU] Rl Ryl Ryl | Bl Bkl Bkl 12
50 | S5HEELLT 0.7 |< 0.5 1.2 0.6 0.7 0.6 0.7 0.7 0.6 0.6 0.5 0.6 1.2 0.5 0.6 12
51 | AELLT 0.1« 0.1 0.2 | < 0.1]< 0.1« 0.1« 0.1« 0.1« 0.1 0.1 0.1 0.1 0.2 | < 0.1 < 0.1 12
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(27K A8 B A AR E T H

jf RAEE SRty 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 21 3H 53] 54159 3| [EIEx0
1 |[7r Ty ROEOIEY <0.02 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 2
2 |vF7  ROZEDLEY <0.002 0.0004 0.0004 0.0004 0.0004 0.0004 2
3 |=v VB OEDILEY) <0.02 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 2
5 |12 anxzy <0.004

8 |hMr=r <0.4

9 7&/v@§\‘}t%/vmﬂey/v <0.08 < 0.008 < 0.008 < 0.008 F<  0.008 < 0.008 2
10 |G <0.6

12 | @ik <0.6

13|v7var7h=k/L <0.01

14 [fakra7—v <0.02

15 |3 <1

16 PR <1

17V Ine D =20 N (BE) % | 10~100

18|~ L R OO E W% <0.01

19 |a0ERfE R <20 < 2 4 4 < 2 2 2
20 |1,1,1N)7aaxs <0.3

21 | AF-t-T7F L —7 1 <0.02

22 | G (KMnO4TH 2 &) <3

23 | &8 (TON) 3LLT] < 1 < 1 < 1 < 1 < 1[< 1< 1 4
24 | I IRE WK 30~200

25 |¥E % LELLT

26 | pHAE % 1.5RRE

27 |1 B (FU 72U T HR) —1~0

28 | 1EJE M A% 2,000{/mlEA T 1,300 120 310 73 1,300 73 451 4
29 1,17 FL <0.1

30 | 7V I=0 LK ONEDILE YK <0.1

31 |[PFOS K ('PFOA <0.00005 < 0.000005 < 0.000005 1
(3FDfhdIE A

{g A& E 44 5H 6 A 7H 8A 9H 104 114 124 1A 2A 3H 54 A% S [EIEx
1 | =W bl sE 2ok & (BOD) R ZHEL < 0.5]< 0.5 0.8 ]< 0.5 0.8 | < 0.5 | < 0.5 4
2 ﬂﬁﬁ@H/Jﬁ/z—ﬁg/kﬁi(COD) 3meg/0LL T

3 [l R HEL

4 |&%EH | AL

B Kz ﬂ]IL/

6 |IBTFIRsE 7500 F

7 R PE S BRIZHEL N AR H A A 4
8 |77 HERESE Bz < 0.05 < 0.05]<  0.05]<  0.06]< 0.05]< 0.05]< 0.05][< 0.05][< 0.06[< 0.05][< 0.05][< 0.06f< 0.05]< 0.05]< 0.05 12
9 |Z7VF AR 4 BRI AR ARG 2
wlrrrer R ZHEL AFg AR 2
11 [/kiE 15.6 16.4 17.0 23.8 20.0 19.5 18.2 16.4 16.0 14.8 14.3 14.2 23.8 14.2 17.2 12
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oKL KE AR

mw
(1)ZEMETE H (5K) A6
jf RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 2A 3H e 54159 3| [EIEx0
1| 100ff /m12A T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
2 | KIGE s AR AR AR A A fg AR A AR AR A AHg A 12
3 IRV LR OZEDILEW <0.003

4 KRR OZDILEW <0.0005

5 [ LU R OEDILEY <0.01

6 [$h L O DL S <0.01

7 [EROZOILED <0.01

8 |~ iz sbaw) <0.05] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
9 |HmRIEER <0.04| < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 4
10 [>T AL AA L R OSEAL T <0.01] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 J<  0.001 4
11 |AERAHE 2 3R K OV R e = 37 <10 1.06 0.46 0.98 0.82 1.06 0.46 0.83 4
12 |7 v FE R OZEDOLEY) <0.8

13 |V R R OZEDILE Y <1

14 | UGV IR 5 <0.002

151,42 F4F% 9 <0.05

16 | AKX O T A-1,20 7T L <0.04

17| rmorz <0.02

187 rranFL <0.01

19N 7oo=FL <0.01

20 | _oB <0.01

P EESA <0.6 0.18 0.20 0.20 0.17 0.20 0.17 0.19 4
22 |7 oo EiEE <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
23 |7aedL <0.06 0.005 0.015 0.025 0.006 0.025 0.005 0.013 4
24 |7 aafElg <0.03] < 0.003 < 0.003 0.004 < 0.003 0.004 < 0.003 0.001 4
25 |7 uEsma Az <0.1 0.005 0.004 0.008 0.005 0.008 0.004 0.006 4
26 | RFEWE <0.011 < 0.001 0.001 0.001 < 0.001 0.001 [ < 0.001 0.001 4
27 [eR N AZ <0.1 0.017 0.029 0.053 0.018 0.053 0.017 0.029 4
28 |N) /oo FeEs <0.03 0.004 0.012 0.019 0.006 0.019 0.004 0.010 4
29 |7 eEYrmu AL <0.03 0.007 0.010 0.020 0.007 0.020 0.007 0.011 4
30 |7 mEFRLL <0.09] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 F<  0.001 J<  0.001 4
31 | BT TR <0.08] < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
32 |HEh B O DAL AW <1

33| 7 NI=0U LK OEDILEY) <0.2 0.02 0.02 1
34 |8k O DL &Y <0.3

35 |8 2D EW) <1

36 | N LK OZEO(LEY) <200

37 |~ B R OZEDOILE D <0.05] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 F<  0.001 < 0.001 4
38 | A4 <200 29.8 26.2 26.4 28.8 25.5 26.6 25.4 24.1 23.8 27.9 26.7 27.0 29.8 23.8 26.5 12
39 | b XD N () <300 119 105 113 142 142 105 120 4
40 |78 <500 255 268 284 299 299 255 277

41 |BaA A FoniE PR <0.2

42 |V A A <0.00001 < 0.000001 0.000001 | < 0.000001 | < 0.000001 0.000001 § < 0.000001 § < 0.000001 4
43 Z*f?lb/fY?ﬁ/V*ﬂ‘*/l/ <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
44 |FEA A FUmTE S <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
45 |7 =/ — V38 <0.005

46 | HEED(TOC) <3 1.7 1.9 1.8 2.0 2.2 2.2 1.6 2.8 3.0 1.3 2.1 12
47 |pHAE 5.8~8.6 7.5 7.6 7.3 7.5 7.4 7.6 7.6 7.7 7.7 7.3 7.5 12
48 |k FLE TR [ NIEITNIEIE IS Y S Y L L 12
49 | & FLE TR T NIEIT NI Hogrm | Hyml | Eym | Bymr L 12
50 | S5HEELLT 0.9 1.2 1.0 0.8 1.2 1.3 0.7 1.1 1.3 0.5 1.0 12
51 | AELLT < 0.1]< 0.1« 0.1 < 0.1« 0.1« 0.1« 0.1 < 0.1 0.3 | < 0.1 0.1 12




KL KE RS

m
(2K B PR H A ETE A
RAEHEE H A A 54 6H 7H 8H 9H 104 11H 12H 1A 21 R 5415 R3] [EIE
TUT RV R OZEOLEY <0.02
T K OEDILEY) <0.002
=V O DILE W) <0.02
1,20 700 H <0.004
=% <0.4
THIVEEY TF L ~F )L <0.08
i <0.6
— iR <0.6
Yrun7Eh=h) L <0.01 0.001 < 0.001 0.001 0.001 0.001 2
ka7 —L <0.02 0.004 0.002 0.004 0.002 0.003 2
DR <1
s |7t = <1 0.80 0.80 0.80 0.80 0.80 2
TN T BT 30 NEEE) | 10~100
~ RO DL A% <0.01
WERE R P <20 11 6 11 6 9 2
1,1,1IN)7aaxzy <0.3
AF)L—t—T F )L —F )L <0.02
FHEY % (KMnO4TH i) <3
BT (TON) 3LLT 1 < < 1 1 1 1 4
TR % 30~200
T 1ELLT
5 | pHfiE 3% 7.582
JE M (ST FEED) —1~0 0.9 — 0.5 0.9 0.5 0.7 2
E B PER A A A 2,001 /mlLL F 4 4 2 4
29,1 7rE=TL <0.1
30 | 7V I=0 LK ONEDILE YK <0.1
31 |PFOS & O'PFOA <0.00005 0.000006 0.000006 1
(3)FnfhpIEH
b wEER 551 6/ 7 8/ 9J] 104 114 124 11 2A e s | v | oEx
1 | A b Erie R 2k & (BOD) BRI HEL
2 Mgk % (COD) 3mg/ 0L T
3 [l & :
S
X
6 VA TR
7 | B SEE
] [T E=THEER
9 [ZVFRREYD L AR ARG 2
wlrrror AFg AR 2
11 kiR 16.0 18.0 21.4 23.1 22.5 19.2 15.5 12.1 9.9 10.1 23.1 9.9 16.0 12

K OREIEMEH P LK E B BEREH A CEAEL TV D20 H %




Kb~ b AKE R

(1)ZEMETE H (5K) A6
jf RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 2A 3H e 54159 3| [EIEx0
1| 100ff /m12A T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
2 | KIGE s AR AR AR A A fg AR A AR AR A AHg A 12
3 IRV LR OZEDILEW <0.003
4 KRR OZDILEW <0.0005
5 [ LU R OEDILEY <0.01
6 [$h L O DL S <0.01
7 [EROZOILED <0.01
8 |~ iz sbaw) <0.05] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
9 |HmRIEER <0.04| < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 4
10 [>T AL AA L R OSEAL T <0.01] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 J<  0.001 4
11 |AERAHE 2 3R K OV R e = 37 <10 2.70 2.00 2.48 3.42 3.42 2.00 2.65 4
12 |7 v FE R OZEDOLEY) <0.8
13 |V R R OZEDILE Y <1
14 | UGV IR 5 <0.002
151,42 F4F% 9 <0.05
16 | AKX O T A-1,20 7T L <0.04
17| rmorz <0.02
187 rranFL <0.01
19N 7oo=FL <0.01
20 | _oB <0.01
P EESA <0.6 0.07 0.06 < 0.06 < 0.06 0.07 1< 0.06 0.03 4
22 |7 oo EiEE <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
23 |7aedL <0.06 0.002 0.002 0.002 0.001 0.002 0.001 0.002 4
24 |7 aafElg <0.03] < 0.003 < 0.003 < 0.003 < 0.003 < 0.003 < 0.003f<  0.003 4
25 |7 uEsma Az <0.1 0.017 0.015 0.015 0.016 0.017 0.015 0.016 4
26 | RFEWE <0.011 < 0.001 0.002 < 0.001 < 0.001 0.002 f < 0.001 [<  0.001 4
27 [eR N AZ <0.1 0.036 0.034 0.033 0.034 0.036 0.033 0.034 4
28 |N) /oo FeEs <0.03] < 0.003 < 0.003 < 0.003 < 0.003 < 0.003 < 0.003)< 0.003 4
29 |7 eEYrmu AL <0.03 0.007 0.006 0.007 0.005 0.007 0.005 0.006 4
30 |7 2EHRL L <0.09 0.010 0.011 0.009 0.012 0.012 0.009 0.011 4
31 | BT TR <0.08] < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
32 |HEh B O DAL AW <1
33| 7 NI=0U LK OEDILEY) <0.2 0.03 0.03 1
34 |8k O DL &Y <0.3
35 |8 2D EW) <1
36 | N LK OZEO(LEY) <200
37 |~ B R OZEDOILE D <0.05] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 F<  0.001 < 0.001 4
38 | A4 <200 41.9 36.4 36.4 38.4 38.1 29.5 35.2 35.7 38.4 42.4 44.5 49.7 49.7 29.5 38.9 12
39 | b XD N () <300
40 |78 <500 235 281 257 242 281 235 254 4
41 |BaA A FoniE PR <0.2
42 |V A A <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
43 Z*f?ll//fyiﬁw*ﬂ‘*/‘/ <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
44 |FEA A FUmTE S <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
45 |7 =/ — V38 <0.005
46 | HEED(TOC) <3 0.7 0.6 0.5 0.5 0.7 0.8 0.8 1.2 0.4 0.7 12
47 |pHAE 5.8~8.6 7.9 7.9 7.8 7.8 7.8 7.8 7.8 7.9 7.7 7.8 12
49 | & FLE TR T NIEIT NI Hogrm | Hyml | Eym | Bymr 12
50 | 5L < 0.5 ] < 0.5]< 0.5 | < 0.5 < 0.5 < 0.5 | < 0.5 ] < 0.5 < 0.5 < 0.5 | < 0.5 12
51 | 2ELLTF] < 0.1]< 0.1« 0.1]< 0.1 < 0.1« 0.1« 0.1« 0.1 < 0.1 < 0.1 < 0.1 12




Kifev & AKERAE

YR=

Jr

mwLp
2UKEE AR EEA
?i.:? RAEHEE H A A 4A 5H 6H 7H 8H 9H 104 11H 12H 14 21 3H 53] 5415 R3] [EIE
1 |7 TV ROZDOILEY <0.02
2 |o7  BROEDILEY) <0.002
3 |=v VB OEDILEY) <0.02
5 |12 anxzy <0.004
8 [hr—r <0.4
9 [Z7ANEEY =F )L ~FI L <0.08
10 | E R <0.6
12 | @ik <0.6
13 [ 7aa7®r=NL <0.01 0.001 0.001 0.001 0.001 f < 0.001 2
14 [#akra7—1 <0.02 0.002 0.002 0.002 0.002 [ < 0.002 2
15 |3 <1
16 PR <1 0.24 0.26 0.26 0.24 0.25 2
17V Ine D =20 N (BE) % | 10~100
18|~ L R OO E W% <0.01
19 |a0ERfE R <20 2 2 2 2]< 2 2
20|1,1,1N) 7z <0.3
21 | AF-t-T7F L —7 1 <0.02
22 | G (KMnO4TH 2 &) <3
23 | &8 (TON) 3LAT|< 1 1 < 1 1 1 1< 1 4
24 | R FRE W% 30~200
25 |¥E % ELLT
26 |pHAE % 7.582
27 @&tk (F 77 FE) —1~0 0.5 0.7 0.7 0.5]- 0.6 2
28 |1 e Fe Al 2,000{/mlEA T 3 1 5 1 5 1 3 4
29,1 7rE=TL <0.1
30 | 7V I=0 LK ONEDILE YK <0.1
31 |[PFOS K ('PFOA <0.00005
(3)FnfhpIEH
{g A& E 44 5H 6 A 7H 8A 9H 104 114 124 1A 2A 3H 54 A% S [EIEx
1 | A b Erie R 2k & (BOD) BRI HEL
2 Mgk % (COD) 3mg/ 0L T
3 [l &
S
X
6 VA TR
7 | B SEE
] [T E=THEER
9 |ZUVT AR L
10|77
11 kiR 17.0 19.3 23.0 27.5 29.5 29.5 25.3 20.8 17.2 14.1 13.4 13.7 29.5 13.4 20.9 12
Mo KEILMEIE B KB E I B R EHE H TEREL QWD A
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HIHT AE AR

(1)ZEMETE H (5K) A6
jf RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 2A 3H e 54159 3| [EIEx0
1| 100ff /m12A T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
2 | KIGE s AR AR AR A A fg AR A AR AR A AHg A 12
3 IRV LR OZEDILEW <0.003
4 KRR OZDILEW <0.0005
5 [ LU R OEDILEY <0.01
6 [$h L O DL S <0.01
7 [EROZOILED <0.01
8 |~ iz sbaw) <0.05] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
9 |HmRIEER <0.04| < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 4
10 [>T AL AA L R OSEAL T <0.01] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 J<  0.001 4
11 |AERAHE 2 3R K OV R e = 37 <10 2.71 1.99 2.45 3.49 3.49 1.99 2.66 4
12 |7 v FE R OZEDOLEY) <0.8
13 |V R R OZEDILE Y <1
14 | UGV IR 5 <0.002
151,42 F4F% 9 <0.05
16 | AKX O T A-1,20 7T L <0.04
17| rmorz <0.02
187 rranFL <0.01
19N 7oo=FL <0.01
20 | _oB <0.01
P EESA <0.6 0.07 0.07 < 0.06 < 0.06 0.07 1< 0.06 0.04 4
22 |7 oo EiEE <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
23 |7aedL <0.06 0.002 0.002 0.002 0.001 0.002 0.001 0.002 4
24 |7 aafElg <0.03] < 0.003 < 0.003 < 0.003 < 0.003 < 0.003 < 0.003f<  0.003 4
25 |7 uEsma Az <0.1 0.017 0.014 0.016 0.016 0.017 0.014 0.016 4
26 | RFEWE <0.01 0.001 0.002 < 0.001 < 0.001 0.002 f < 0.001 [<  0.001 4
27 [eR N AZ <0.1 0.036 0.032 0.034 0.034 0.036 0.032 0.034 4
28 |N) /oo FeEs <0.03] < 0.003 < 0.003 < 0.003 < 0.003 < 0.003 < 0.003)< 0.003 4
29 |7 eEYrmu AL <0.03 0.007 0.006 0.007 0.005 0.007 0.005 0.006 4
30 |7 2EHRL L <0.09 0.010 0.010 0.009 0.012 0.012 0.009 0.010 4
31 | BT TR <0.08] < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 < 0.008 4
32 |Hign B O DAY <1
33| 7 NI=0U LK OEDILEY) <0.2 0.03 0.03 1
34 |8k O DL &Y <0.3
35 |8 2D EW) <1
36 | N LK OZEO(LEY) <200
37 |~ B R OZEDOILE D <0.05] < 0.001 0.001 < 0.001 < 0.001 0.001 J< 0.001 f < 0.001 4
38 | A4 <200 42.0 36.4 36.6 38.5 38.0 40.5 34.9 35.2 38.8 42.5 44.8 45.6 45.6 34.9 39.5 12
39 | b XD N () <300
40 |78 <500 243 267 262 252 267 243 256 4
41 |BaA A FoniE PR <0.2
42 |V A A <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
43 Z*f?ll//fyiﬁw*ﬂ‘*/‘/ <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
44 |FEA A FUmTE S <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
45 |7 =/ — V38 <0.005
46 | HEED(TOC) <3 0.7 0.6 0.5 0.6 0.7 0.7 0.8 1.0 0.5 0.7 12
47 |pHAE 5.8~8.6 7.7 7.9 7.8 7.8 7.8 7.9 7.8 7.9 7.6 7.8 12
49 | & FLE TR T NIEIT NI Hogrm | Hyml | Eym | Bymr 12
50 | 5L < 0.5 ] < 0.5]< 0.5 | < 0.5 < 0.5 0.5 | < 0.5 ] < 0.5 < 0.5 < 0.5 | < 0.5 12
51 | 2FELL T < 0.1|< 0.1]< 0.1« 0.1 < 0.1 0.1]< 0.1]< 0.1 < 0.1 < 0.1 < 0.1 12




22

HIHT AE AR

(2K &4 PR B =5 EITH H

?i.:? RAEHEE H A A 4A 5H 6H 7H 8H 9H 104 11H 12H 14 21 3H 53] 5415 R3] [EIE
1 |7 TV ROZDOILEY <0.02

2 |o7  BROEDILEY) <0.002

3 |=v VB OEDILEY) <0.02

5 |12 anxzy <0.004

8 [hr—r <0.4

9 [Z7ANEEY =F )L ~FI L <0.08

10 | E R <0.6

12 | @ik <0.6

13 [ 7aa7®r=NL <0.01 0.001 0.001 0.001 0.001 [<  0.001 2
14 [#akra7—1 <0.02 0.002 0.002 0.002 0.002 [ < 0.002 2
15 |3 <1

16 PR <1 0.30 0.20 0.30 0.20 0.25 2
17V Ine D =20 N (BE) % | 10~100

18|~ L R OO E W% <0.01

19 |a0ERfE R <20 2 2 2 2]< 2 2
20|1,1,1N) 7z <0.3

21 | AF-t-T7F L —7 1 <0.02

22 | G (KMnO4TH 2 &) <3

23 | &8 (TON) 3LAT|< 1 1 1 1 1 1< 1 4
24 | R FRE W% 30~200

25 |¥E % ELLT

26 |pHAE % 7.582

27 @&tk (F 77 FE) —1~0 0.5 0.6 0.6 0.5]- 0.6 2
28 |1 e Fe Al 2,000{/mlEA T 0 2 0 7 2 4
29,1 7rE=TL <0.1

30 | 7V I=0 LK ONEDILE YK <0.1

31 |[PFOS K ('PFOA <0.00005

(3)FnfhpIEH

{g A& E 44 5H 6 A 7H 8A 9H 104 114 124 1A 2A 3H e A% S [EIEx
1 | A b Erie R 2k & (BOD) BRI HEL

2 Mgk % (COD) 3mg/ 0L T

3 [l &

S

X

6 VA TR

7 | B SEE

] [T E=THEER

9 |ZUVT AR L

10|77

11 kiR 17.2 19.4 22.1 28.8 30.0 29.7 25.5 17.7 10.5 11.1 11.8 14.1 30.0 10.5 19.8 12
Mo KEILMEIE B KB E I B R EHE H TEREL QWD A




(1)ZEMETE H (5K) A6
jf RAEHEE FEHERE 4A 5H 6H 7H 8H 9H 10H 114 12H 1A 2A 3H e 54159 3| [EIEx0
1| 100ff /m12A T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12
2 | KIGE s AR AR AR A A fg AR A AR AR A AHg A 12
3 IRV LR OZEDILEW <0.003

4 KRR OZDILEW <0.0005

5 [ LU R OEDILEY <0.01

6 [$h L O DL S <0.01

7 [EROZOILED <0.01

8 |~ iz sbaw) <0.05] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 4
9 |HmRIEER <0.04| < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 4
10 [>T AL AA L R OSEAL T <0.01] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 J<  0.001 4
11 |AERAHE 2 3R K OV R e = 37 <10 1.05 0.46 2.45 0.83 2.45 0.46 1.20 4
12 |7 v FE R OZEDOLEY) <0.8

13 |V R R OZEDILE Y <1

14 | UGV IR 5 <0.002

151,42 F4F% 9 <0.05

16 | AKX O T A-1,20 7T L <0.04

17| rmorz <0.02

187 rranFL <0.01

19N 7oo=FL <0.01

20 | _oB <0.01

P EESA <0.6 0.17 0.20 0.06 0.15 0.20 0.06 0.15 4
22 |7 oo EiEE <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
23 |7aedL <0.06 0.011 0.030 0.002 0.014 0.030 0.002 0.014 4
24 |7 aafElg <0.03] < 0.003 < 0.003 < 0.003 0.005 0.005 < 0.003 < 0.001 4
25 |7 uEsma Az <0.1 0.007 0.005 0.016 0.008 0.016 0.005 0.009 4
26 | RFEWE <0.01 0.001 0.001 < 0.001 0.001 0.001 [ < 0.001 0.001 4
27 [eR N AZ <0.1 0.030 0.052 0.034 0.036 0.052 0.030 0.038 4
28 |N) /oo FeEs <0.03 0.008 0.024 < 0.003 0.012 0.024 < 0.003 0.011 4
29 |7 eEYrmu AL <0.03 0.012 0.017 0.007 0.014 0.017 0.007 0.013 4
30 |7 mEFRLL <0.09] < 0.001 < 0.001 0.009 < 0.001 0.009 < 0.001 0.002 4
31 | BT TR <0.08] < 0.008 < 0.008 < 0.008 < 0.008 0.008 0.008 0.008 4
32 |HEh B O DAL AW <1

33| 7 NI=0U LK OEDILEY) <0.2 0.02 0.02 1
34 |8k O DL &Y <0.3

35 |8 2D EW) <1

36 | N LK OZEO(LEY) <200

37 |~ B R OZEDOILE D <0.05] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 F<  0.001 < 0.001 4
38 | A4 <200 29.4 26.6 26.6 28.9 26.2 26.1 35.0 35.7 23.9 27.3 26.6 28.0 35.7 23.9 28.4 12
39 | b XD N () <300 118 106 88 146 146 88 115 4
40 |78 <500 252 258 269 301 301 252 270

41 |BaA A FoniE PR <0.2

42 |V A A <0.00001 < 0.000001 0.000001 | < 0.000001 | < 0.000001 0.000001 § < 0.000001 § < 0.000001 4
43 Z*f?ll//fY?ﬁ/V*ﬂ‘*/‘/ <0.00001 < 0.000001 | < 0.000001 | < 0.000001 | < 0.000001 < 0.000001 f < 0.000001 f < 0.000001 4
44 |FEA A FUmTE S <0.02] < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 1< 0.002 < 0.002 4
45 |7 =/ — V38 <0.005

46 | HEED(TOC) <3 2.1 2.0 1.9 0.5 0.6 2.2 1.9 2.6 2.9 0.5 1.9 12
47 |pHAE 5.8~8.6 7.5 7.6 7.4 7.8 7.8 7.6 7.7 7.7 7.8 7.3 7.6 12
48 |k FLE TR [ NIEITNIEIE IS Y S Y L L 12
49 | & FLE TR T NIEIT NI Hogrm | Hyml | Eym | Bymr L 12
50 | S5HEELLT 0.8 0.8 0.9 < 0.5]< 0.5 1.1 0.5 1.2 2.4 0.5 1.0 12
51 | 2BLLT < 0.1]< 0.1« 0.1 < 0.1]< 0.1]< 0.1]< 0.1 < 0.1 0.2 |< 0.1 < 0.1 12




aHHAZ K 5
(2K B PR H A ETE A
RAEHEE H A A 54 7H 8H 9H 104 11H 12H 1A 21 3H 53t 5415 R3] [EIE
TUT RV R OZEOLEY <0.02
T K OEDILEY) <0.002
=V O DILE W) <0.02
1,20 700 H <0.004
=% <0.4
THIVEEY TF L ~F )L <0.08
i <0.6
— iR <0.6
Yrun7Eh=h) L <0.01 0.002 0.002 0.002 0.002 0.002 2
ka7 —L <0.02 0.006 0.003 0.006 0.003 0.005 2
DR <1
s |7t = <1 0.22 0.38 0.38 0.22 0.30 2
TN T BT 30 NEEE) | 10~100
~ RO DL A% <0.01
WERE R P <20 9 4 9 4 7 2
1,1,1IN)7aaxzy <0.3
AF)L—t—T F )L —F )L <0.02
FHEY % (KMnO4TH i) <3
BT (TON) 3LLT 1 1 1 1 1 4
TR % 30~200
T 1ELLT
5 | pHfiE 3% 7.582
JE M (ST FEED) —1~0 0.8 0.4 0.8 0.4 0.6 2
TE BV AR M 2,000{/mlEA T 1 2 3 0 2 4
29,1 7rE=TL <0.1
30 | 7V I=0 LK ONEDILE YK <0.1
31 |[PFOS K ('PFOA <0.00005
(3)FnfhpIEH
fg wEER 551 7 8/ 9J] 104 114 124 11 2J] 34 e s | v | oEx
1 | A b Erie R 2k & (BOD) BRI HEL
2 Mgk % (COD) 3mg/ 0L T
3 [l & :
S
X
6 VA TR
7 | B SEE
] [T E=THEER
9 |ZUVT AR L
10|77
11 kiR 20.0 26.4 27.5 28.1 23.7 19.8 14.3 12.4 12.4 11.5 28.1 11.5 19.7 12
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